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Treft fieret uftedy aren anfor s uftedarar smarie fremeten wwist I T9g w0
e IW ufEderar snutia et wifEws.

Read the following passages and respond to the questions that follow each
passage. Your responses should be based on the passages.

uiese (WA ®HIE 19 5)

ayfiehdel G 1453 Wed HI-LEIRAeeAT TSHANRH eI AHe 9. 1789 weid %=
TSTHAET dfeed TeRGTTEa (1914 — 1918) W Ha@dl Ak sngfed=n amen Sl e
TEYGMET §ad MRaEae Siie FHEE I3 SO gEaTd del. 3U9Ed sgHeRden Iatd
Fe1 AN M ITUGFIhRa=T Fierde & AT 3 o A, AT AR A 2 aal U Haed
e UgdHT HaTd, Trely dige Ten g Tet 3iih dis+ 5% a1 (9 79 1864 wed anygfashan &
Hehed-dT HITYH IIN FeAard A TGS IR, A1 Gehewid WRIET geadl JaHH Hie™ A AfEd
B, CHifvrETe S g wa srEaT Wi wehenw fbfel A, o o fafey IR
YT vaRaEE T dam. et fiew g ma angfiea v amygfas s e ofenfies
TAETEE AW H{R, AR EHad 3. (T6) 38 9 o i Oel T 92 aaqn
o e famm. (S9) shenfis o onfor SRSt arderae g™ fasw s onfdles e
g oy () Toh e SO deendl i sy wwiifere omEd. ghuTdia SmyfeRdaed
MigaeTEaT WER, dnwdl, efis widt onfor e Siden uniereg e e I/ snEw
FhrgraTen v oty aaEiie I IT3E IV e, FuEdard ol aEERis s YR
AT T AU IEATEt SATCAIIET YT SEeEdt sueT sufEE #m. ammsfkis aaen
T ot apliss NS YRawe @l sgtsadaaes fafag dwemm amR S
AP — T, ST, §YeE, TeR(-sauul, HEEE U, R faarea aeed st safearg. amn
o JEr T i A FHewn AR AfEE wifedie Tegan. faaw onfh wrdRmaRE faemn
THEY R Mae g HIBNET T 3.8, mwwnﬁaaﬁmaﬂﬁm
Falfaarar wIT g,

Passage (Questions number 1 to 5) :

It is believed that the beginnings of modernity can be traced to the Fall of
Constantinople in 1453. The period from the French Revolution of 1789 till the First World
War (1914 — 1918) is believed to be of high modernity. With the First World War, there
began the questioning of the settled assumptions about everything. This is believed to be
the beginning of Post-modernity and the gradual waning of modernity; though both of them
continue to coexist uneasily in the world today. Charles Baudelaire is credited for having
coined the term ‘modernity’ in 1864 in his essay “The Painter of Modern Life’ to denote a
relationship with the contemporary time characterised by a rupture with the tradition.
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Though the term modernity was coined during the high tide of its existence in the
nineteenth century, its various features can be observed from the fifteenth century
onwards. Anthony Giddens has defined modernity as a ‘shorthand term for modern society
or Industrial Civilisation’. He believes that it is associated with (1) the idea of the world as
open to transformation by human intervention; (2) a complex of economic institutions,
especially industrial production and a market economy; (3) political institutions including
the nation-state and mass democracy. Modernity in Europe involved the spread of
capitalism, democracy and industrial revolution accompanied by a critique of religion. This
very process manifested itself with varying intensity in the colonies. In the history of
Afro-Asian countries where certain beginnings of modernity were already visible,
imperialism brought about a rupture and directed the course of their history on a different
trajectory of exploitation and the colonial reality. When cultures confronted each other as
colonisers and the colonised, introspection and efforts towards change were inevitable. The
political and cultural hegemony of the colonial power in India brought the Indians face to
face with various ideas included in the cluster of modernity — liberty, equality, fraternity,
rationality, rule of law, spirit of enquiry and individualism. This is not to say that these
were completely alien to the Indians. Ideas such as reason and liberty have been a part of
the Indian philosophical and literary discourse at least from the times of Buddha, i.e., the
62 Century B.C. ‘

1. @il Fiod fagd g gt 2
(1) IYFHA=T IST TUUIT IAHIT HeAl 3 HHA .
(2) snyfamar ;M gehegdt Fiffdt whiftmea wawE s
(3) arETgioe HBMETal WA Amgfsdan afta g
(4) =0 wHe AE
Which of the following statements is not true ?
(1) Modernity is believed to have originated in the fifteenth century.
(2) The concept of modernity was created in the nineteenth century.
(3) Indians were acquainted with modernity even before the colonial period.
(4) None of the above

2. Il firsg ar=r ud Ny M Ysheudd SIS GHEY g9 787 ?

(1) fafire fomm (2) fafere anfde geen

(3) fafire Toefia fmmommet (4) WHEAR

What according to Anthony Giddens is not included in the concept of modernity ?
(1} Certain ideas (2) Certain economic institutions

(3) Certain political ideologies (4) Imperialism
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3. Eid fGun Fesighas am=r 9 @ fae.

q.  JEEAETEHS STHI-IIRIE ST snyfeds aieE s,

(1) 31 SR MR, & WIS TS 3R (2) N H IR, 9 A TH IR

(3) o SeR 3T}, § I ;R C(4) AN TH AR, § T IR

Read the statements given below carefully and choose the correct option.

a. Certain ideas in the literature during the time of Gautam Buddha were
congruent with modernity.

b.  Afro-Asian countries were introduced to modernity because of colonialism.
(1) aandb are correct (2) Both a and b are incorrect

(8) aiscorrect, b is incorrect (4) aisincorrect, b is correct

4,  udie S Taamids SR I TR 7
. e ®¢ MYHF A IG TTRIG.
9. qEN S WRd AYEF e A8, I A8,
(1) w93 A 2 FBT 3) Ad MU (4) A
Which of the following two statements is/are correct ?
a. Religious rituals are not said to be modern.

b. It is not that because of the foreign power India did not modernise.
(1) Onlya (2) Onlyb (3) Bothaandb (4) Neitheranorb

5.  @Ieftedshl o e g o 7
(1) 3Th!-3TTRMg 9ma SeEETe) SryReRdET IV Sl
(2) TEEdHS ST ehdaed YSaaeaT JER SAyd ToaaT.
(3) e 1 anyfraTsy w1 ¥ sied TR s R .
(4) hEh T T
Which of the following statements is true ? .
(1) There was absence of democratic modernity in the Afro-Asiatic countries.
{2) Modernity in colonies did not inv.olve spread of capitalism.

(3) Giddens believes that modernity involves the idea that the world cannot
change.

(4) None of the above
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ufesq (T99 HATE 6 T 10) :

i At sTefised 17 wead Sfew s 169 weavft @sa IR Felt smEa. 3few snfor
AEY 8 Tehifeheh T STfauy TaeurE aIed. Swifas dert taeen s anfor Stvaes wwr S
A T Pt O S T el oM. waten oot wrEER @ T SR swersaTh
AT el MR, HY® USTAT GeH e aw, auf, fom, v, e, voefr 3 3 o9, adig fopan
gTisres I, T, 9, &, 3. S HIOE] §g A Hal qidl BT S5, G o daddq

T 3fe ot A IMEt 1, 2016 YRE A Il Mgd oMY R guw |y fuig
BTt ArigEH Fdter. fea: onfesr anfur anfirn ndfier fawaefier 2endier wdgmmash anfor svae
ot gtardt TdlE U SET Sel O SMGvES AR, o ol g SMEA oI dEH 0
FEvas e, A fwmeR gfua s wen wfafEfse gam @ wd gd, gew, siem =t
wETaiETET qaEy gt 2030 vid §99 wera i fafag gl smem=n gifgem e st -
wiftrert o guiacht 3. wwad fyem SRR gery vevimm, SyEEsT 30, 9 g wey w1,
TTE IHqH WU 397 69 WhTd HUNOT ATEH F 3. VG HA.

Wit onfor arafére s enfur Ftnfiyon yafda wwamd) sfor wafl st SamEvErad)
o) AfYaes i faream anftr wporaraTgel st faen a7=ht Iuersgar sheft wfed). 2030 wia iy,
T gge e, mfedt onfor Mo Ti=n wuEy ong s Rvasndt Sucew@r ATl yTvEa fae
3fese FaEg oMEq. Aol va. s w./agd, dE, BUTREE, THien i o FEa SR 9 reff
ARt AGUATT St ST e heft 3 for=n A AreaveaeR @y HiE el IR

wdemaEh it wvaa enfdE fFRm sravEe omR. X aule @ few se 9 3o fawwd wwen
gl W 7 AE N e, SgoAEnh, wrvEd, TEREEIE G SR steferaeE Fid s
TR TSR 31y TfEere s qaier e W feen sme amwrdl ot wm e wifes. FRef
anfor giafia soee s@e | od I $EgE g5, Yvad [Gem SR s st 8 Jurr
de guepndter Amal Wt fom Ffaeen geifad. ardie sgde ke wrer st snfor A
Sfrerman gt T3 guRvaETd S /9 T STl RIS Shet wifESI.
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Passage (Questions number 6 to 10) :

World leaders have recently announced 17 Sustainable Development Goals (SDGs)
with 169 associated targets. The goals and targets are integrated and indivisible. Global
leaders have pledged common action and endeavour for such a broad and universal policy
agenda. They have decided to implement the Agenda for the full benefit of all. The world
has reaffirmed the importance of the Universal Declaration of Human Rights, as well as
other international laws. The emphasis is given on the responsibilities of all states, in
conformity with the Charter of the United Nations, to respect, protect and promote human
rights and ensuring fundamental freedom for all, without distinction of any kind as to race,
colour, sex, language, religion, political or other opinion, national or social origin, property,
birth, disability, ete.

The new goals and targets have come into effect on January 1, 2016 and will guide
the decisions to-be taken over the next fifteen years. It is necessary to respect the national
policy space for inclusive and sustainable economic growth, in particular for developing
countries from Africa and Asia. People who are vulnerable must be empowered. Those
whose needs are reflected in the development agenda include all children, youth, persons
with disabilities, people living with HIV/AIDS, older persons, indigenous peoples, refugees
and internally displaced persons and migrants. The commitment is shown towards ending
poverty in all its forms and dimensions by 2030. SDGs ensure the basic standard of living,
end of hunger and achieving food security as a matter of high priority and to end all forms
of malnutrition.

To promote physical and mental health and well-being, and to extend life expectancy
for all, we must achieve universal health coverage and availability of quality healtheare. It
is essential to reduce new-born, child and maternal mortality by 2030. SDGs have promised
universal access to sexual and reproductive healthcare services, including for family
planning, information and education. The focus will be to accelerate the pace of progress
made in fighting malaria, HIV/AIDS, tuberculosis, hepatitis, Ebola and other communicable
diseases and epidemics.

SDGs aim at building strong economic foundations for all countries. Inclusive and
sustainable economic growth is essential for prosperity. It will be easy if wealth is
distributed equally and income inequality is addressed. Nations must work to build
dynamic, sustainable, innovative and people-centred economies, promoting youth
employment and women’s economic empowerment. All countries stand to benefit from
having a healthy and well-educated workforce. The vast agenda of SDGs shows a certain
direction of human progress in the next decade and a half. All the countries in the world
must work relentlessly to ensure that most of the goals are attained and the quality of
human life is improved all over the globe.
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6. IR 1 FA T7E7T ?
3. wvag faem sd @ e faemamefia asgAn @ s
g, YEd faw Igedie Jesee STt TR,
(1) %F A (2 AT
(3) o I 9 aE (4) 31 omfvr & ARy Tt A
Which of the following is/are not true ? '
a. Sustainable Development Goals (SDGs) are applicable only to the developing

countries.
b. Goals under SD@G are interrelated.
(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neither anorb

7.  gEa faun qana O @ gar e
A, wdwurasht gt & il ggieh wow am.
9. o7 Tyl & sdawash g qEete o,
(1) ad 37 S 3R (2) e & S AR
(3) 1 MY & Tt SO Ted (4) 31 T & T8 g MR

Consider the following statements and select the proper option :
a. Inclusive growth is a pre-condition of economic prosperity.
b.  Economic prosperity is a pre-condition of inclusive growth.

(1) Only a is correct (2) Only b is correct

(3) Botha and b are correct (4) Both a and b are incorrect
8. 3. OGN FRFEGAUTS MYHH gUNd.

9. ToER JREYRUS e H 9ed.

%. REd e AT SReRaEE! auTEg .

g Yvad fae e Qi geavarEn gq ST

Tt Hiordt faue gox 3mea 2

(1) %ad A, & 30T & (2) e 3, & I

(3) 1, @, % B (4) S&q 9, F MU T

a.  Quality healthcare improves life expectancy.

b.  Quality healthcare reduces child mortality.

c.  SDGs promise healthcare services.

d. SDGs aim at reduced poverty.

Which of the above statements are true ?

(1) Onlya,bandc (2) Onlya,candd
(3) a,b,candd (4) Onlyb,candd

FEeUT HTHTAETE! SR / SPACE FOR ROUGH WORK



9 007

9. gdid faum @ Ugg I w@ e

A.
.

(1
(2)
(3)
(4)

T B S ST SRS % WEa el wevar TR
T e WadA SN T # Yo ST e 8.
w3 T AR

el o ST I

3 A F gt T R

o Infir 9 Q9% I

Consider the following statements and select the proper option :

a.

b.

(1)
(2}
(3)
(4)

Human rights and international laws are important for sustainable
development.

It is the responsibility of all the states to promote human rights and freedom.
Only ais true

Only b is true

Both a and b are true

Both a and b are false

10. Gt S S s si=a3emn v Jigid ?

(1)
(2)
(3}
(4)

AR 3T SRR

el B8 T AU HRL
IRTE AT fashE 3 Tieess
e enifer afgett werdientor

Which of the following pairs is nof a part of the above passage ?

(1)
(2)
(3)
{4)

Health and Nutrition
Human rights and International laws
Infrastructure development and Incentives

Employment and Women empowerment
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THETET W TR a9 ond R 9 fRemfemrt swar swm de s Wiet
BT Hived MW HRONYE ARG IEEG NS S0 S ghhATe oA AIRA. SN gd
sfphem N wefida FQEd a9 ATHRSN FOESHl TS THaNE qEwieal IohidH

Il reiipel ITeht guad i SNdMMaTea WA TS qATaReIdel Aieerqul seeet
U, ‘o foEda i W FAEEEAT SqANd S A AT B A RRHGT GHID
M IAC FOTAT FEH TGS AT T A BN, AT FGeA AIS UG rHAA A WA Afeerear
et a8 AT yd enfbehqa Jifsrama 9 gféor anfiseha e e

fore et & wda, TR  giiw =0 srecren foega ol fnin g, snfumET s
HEETe I8 e ATHYD ST A WIT=AT Sea-=1d fHeslel 3IRd 9 HIVEreAT 3l ¢ |aid A
e T IEH oW & Fiud Hard.

1 A N 5 ATl ST Seeltt STeT Sadl T, e g 6
2 [ aylear ot A Bie FHeEerd, yefen wEidiedt o wefivdte whe sga — & fieneifea
oh TUH @] A — B EAHT, I8 ik tfiva TRt Bt @1 9w fempmane
AT TTAde S weel ugd 3T,

eI WA TeUraTd, “a1 Yeiamidial Sgaiige qd Atk Ict §aH et W], §9g
T A el Wid TS J ASTeAERE! aegedl dhedl Hfassh wRfedde fiee
SEefidie T, 379 G ZihTeAT YeIS geehiouTd Ufget 3T, A1 Sgeo TRuHT H18 Tg srectedt Te T
AT Iehrdt Selt ae anfeaHarer 3 onfirraret faguet st arsar.”

IAATHE GSerA HIZA. ATl UfET HTUomel 2-6 el JNiqe] geal ol e sgefiaier Wgareh
. TfEor AMheha Ghaet Tict, I B! e 8 a1 STt SeaTen JATefl. TR WTURIMU 1-9 T awigat
TS JogT BT SHed ¥ Hewarl SR aifiehd Jearen el @ R sufirmean R wime sgred
er. forgu seet amamET 1 gy auiqel gee et S SEewsTioE Seaen e

eI WG Wl it Siegl B iUt wun e Sl o T 150 F9R autare
G HUATETS § 99 [ STE ATl quiy § Hisl HeHW, @ iU HHE-Hgy @rneT e,
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Passage (Questions number 11 to 15) :

Academics have long argued about what led to the unusually large brain of humans
with its capacity for language, abstract thought and consciousness. Scientists have matched
exceptionally wet periods and very dry periods in the East African Rift Valley to sudden
spurts in the evolution of the hominid ancestors of Homo sapiens, which resulted in the
evolution of the modern human brain.

The latest theory suggests it was triggered by the need to adapt to dramatic changes
in the local environment of early man. “It seems modern humans were born from climate
change, as they had to deal with rapid switching from famine to feast — and back again —
which drove the appearance of new species with bigger brains and also pushed them out of
East Africa into Eurasia and South Africa,” said Professor Mark Maslin of University
College, London.

The Rift Valley is an extensive geological fault marked by mountains, lakes and
fertile valleys. Many of the most important fossil remains of early humans have been
unearthed in the region, leading to suggestions that it was the most important place for the
early origins of man.

The study looked at climate change over the past 5 million years. The scientists
found that there were relatively short periods lasting about 2,00,000 years when East
Africa became very sensitive to the cyclical changes in the Earth’s orbit around the
Sun - known as Milankovitch cycles — which lead to global-scale changes to the climate,
such as ice ages. :

“Due to these changes in orbit, the climate of East Africa seems to go through
extreme oscillations from having huge deep freshwater lakes surrounded by rich, lush
vegetation to extremely arid conditions, like today, of sand dunes in the Rift Valley,”
Professor Maslin said. “These changes resulted in the evolution of a new species with bigger
brains, and also forced early humans to disperse out of East Africa,” he said.

. The study found that there were three time periods in particular when this kind of
climate change corresponded to important stages in human evolution. The first occurred
about 2-6 million years ago when the Rift Valley dwellers were pushed into southern Africa
and a new species called Homo habilis emerged. The second happened about 1:9 million
years ago when an important species called Homo erectus emerged from Africa to colonise
much of Asia, while the third occurred about 1 million years ago when Homo
heidelbergensis emerged.

Professor Maslin said that the technique is not accurate enough to deal with the past
1,50,000 years, when Homo sapiens first evolved, but that it nevertheless could explain the
earlier evolutionary transition leading to Homo erectus, which is the first large-brained
hominid with truly human-like skeleton showing a distinctive adolescent growth-spurt.

oeq] HETHISE ST / SPACE FOR ROUGH WORK P.T.O.
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11. fectean uftedersar devidial wata qdea ure fraer.

(1)

(2)

3

(4)

AT o Hige AEERIAT §g SEUET] HeASEd d1g HIevETE! TS ST e
TET ST AT T RO TIE HW I AT AR,

HUEITETE! HTET HIOT TR

TR e ROl AT

Amfrwi o Wt fgE SRR e e Wgﬁﬁﬁﬁa ST
HRUTET WY TUTETS! SETIH I ITH qArel T/ 378,

Select the most logical comment with respect to the passage given.

(1)

(2)

(3)

(4)

Now there is no need for debating over comparatively large size of the human
brain as scientists have been able to delineate reasons for this phenomenon.

Now scientists have some reasons for explaining phenomenon of large size of
human brain on the basis of climate change.

Scientific community now has all the reasons for explaining phenomenon of .
comparatively large size of brain on the basis of climate change.

Scientists are yet to have accurate technique necessary for finding reasons for
large size of human brain in comparison with the size of their bodies

12. afte yisen Igfaciean draewy serdtar anfen o smyfie orht wisvlt sheten 3faa = fae.

(1)
(2)
(3)
(4)

Select the appropriate set of hominid species arranged from earliest to modern that
are mentioned in the above passage.

(1)
(2)
(3)
(4)

Homo sapiens, Homo habilis, Homo heidelbergensis, Homo erectus

‘Homo sapiens, Homo habilis, Homo erectus, Homo heidelbergensis

Homo erectus, Homo heidelbergensis, Homo habilis, Homo sapiens

Homo habilis, Homo erectus, Homo heidelbergensis, Homo sapiens
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13. SOEEAFTIE Jo0 ¥ S SRS adiar SR QR FRer weu famra svarardt st
TEAe e gaan e

(1) e yfomft snfleediar STarEMTET Meen Twa], @g 9 el STl dgad!

T anft Jlet 3 ASAEwE! aTegeAn heae! Afaysh gRfertda fee =g, o

IHIEAT AR TS AR 37T & TRomeft @ Hiergsd STon=a qHesiarean dge
e IR frarer.

(2) iy & e SEFe oTesd 6l @ U THA-WGN |TeT Aued Higl
et 3UEt grEaq.

(3) asfRT qd amiehdia fioe sgefidiar oift ofiean 3 A1fa #vew ot Ferge=T |ire
T,

(4) o fogaa i 7T TAARHE TEEIQ ST AT STHEAG HRU AT ThS d GHIS

Mo = I BT A WS A1S U A i, A1 9 I8 iy srEees
FoT ST SAfeeATA AT

Select the major evidence that is provided by scientists for considering climate
change as a reason for triggering extraordinary growth of brain.

(1) The climate of East Africa seems to go through extreme oscillations from
having huge deep freshwater lakes surrounded by rich, lush vegetation to
extremely arid conditions, like today, of sand dunes triggering growth of brain

of hominids living during the period.

(2) Using special technique scientists found that the earlier evolutionary transition
led to Homo erectus, the first large-brained hominid with truly human-like
skeleton showing a distinctive adolescent growth-spurt.

(3) Scientists were able to match exceptionally wet periods and very dry periods in
the East African Rift Valley to sudden spurts in the evolution of the hominid

ancestors of modern man.

(4) Modern humans were born from climate change, as they had to deal with rapid
switching from famine to feast — and back again — which drove the appearance

of new species with bigger brains.
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14. 3 9 ¥ 9i=41 GgaeUrE dhaTd 9UH HWM 9919 Fasr.

3,

.

(D)
(2)
(3)
(4)

2,00,000 Jui=aT H@SREAH fHehifas T fige gefidiel sieammATen e a
TRU o1 STl R 3SITAl AT,

3 I FEF § 71 9O geqd e

3 9 9 ¢ g8l Wb FEH ggaciel I 3TTEd

379 9 ¢ gl e sl gefia smee wax afomy smea

T AT FEM 3 7 IROTH TSqT AT IR

Select the option that logically describes interrelationship between a and b.

a.

(1)
(2)
(3)
(4)

Milankovitch cycles made the Rift Valley climate go through extreme
oscillations of wet and arid conditions over a period of 2,00,000 years.

Hominid ancestors with large brain only could survive in the drastic climatic
changes and therefore they emerged as new species.

a is the cause that influenced the effect b

a and b both are the effects of the same cause

a and b are the independent effects related to the different phenomena

b is the cause that influenced the effect a |
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According to Professor Maslin, modern humans were born from climate change, as
they had to deal with rapid switching from famine to feast — and back again — which
drove the appearance of new species with bigger brains.

Select the observation(s) that support(s) Professor Maslin’s statement.

a.

b.

(D)
(3)

All members of the existing human races have a large sized brain compared to
their body size.

Many animal species like dinosaurs that have become extinct, had
comparatively smaller brains.

Only a (2) Onlyb

Both a and b (4) Neither anorb
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Passage (Questions number 16 to 20) :

It is a well-known fact that a few dozen people in history own a Nobel prize in
economics. For achieving their world changing results they all put in long work. Angus
Deaton, this year's Nobel winner recounts a different story with respect to his achievement
as he gave importance to his luck. According to him, his father did not die in Second World
War as luckily he contracted TB. In the easy labour market after war, Deaton’s father, a
coal miner in Scotland, got a job at a civil engineering firm. He encouraged young Deaton to
read books by going against the advice of the rest of his family. Reading books made him
very conscious about the role that luck played in the lives of people. He says, “If you re-ran
the world, it would be shuffled in a very different way.” He has blended this outlook into his
Nobel winning lifetime work. He writes, “Those of us who were lucky enough to be born in

the right countries have a moral obligation to reduce poverty and ill-health in the world.”

Deaton’s career is focused on understanding how people consume goods and services
— a crucial step to achieving social goals like improved health and well-being and poverty
and inequality reduction. He aims to understand why each person makes choices he or she
does. With this focus Deaton has been particularly adept at disentangling the cause of
poverty and inequality from the consequences. For example, in India, he showed that
malnutrition was caused by a low income — rather than being a cause of low income, as
some believed. He showed that increasing people’s income did lead to higher calorie intake
among the poor. To learn this, Deaton simply looked at the behaviours of individuals who
are poor. He did not use aggregate data that includes people with higher income and flatten

out effect.

The Nobel Prize Committee wrote; “In the 1980s, research development was mostly
theoretical, where it was empirical, it was based on aggregate data from national accounts.
This has now changed. Development economics is a flourishing empirical research field
based upon the advanced analysis of data from individual households. Deaton’s research
has been an important driving force in this transformation.”
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Choose the most practical true conclusion on the basis of the given statements :

For achieving their world changing results, all Nobel winners put in long work.

Angus Deaton, this year’s Nobel winner recounts a different story with respect to his
. achievement as he gave importance to his luck.

(1) Deaton is the only Nobel winner who did not work for long to get world
changing results.

(2) Deaton won the Nobel Prize because of his luck only.
(3)  Luck helped Deaton to put in long work like all other Nobel winners.
(4) Luckily the Nobel Prize Committee selected Deaton.

17.  Sard S WAl efiee anedr o feeiedn wiEiqy daia s s e
(1) e I ada gEA APITH AFGGIS T IEed ATE.
(2 dea gren afsam Fafim v fresa g snftr e @ afsar geas
Sreared feat. |
(3) A g ARSI &RATE AR 3l TR T g SIS A e .
4 gwmwmwmmmwwm

Choose the most appropriate reasen from the given options for which Deaton
considers himself lucky.

(1) Deatonr’s father did not die in the Second World War.

{2) Deaton’s father had a regular income and thus he could encourage him to read
books.

(3) Deaton’s father contracted TB and thus was not sent to the war front.

(4) Deaton’s father encouraged him to read books by going against the rest of his
family.
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Select the action(s) of Angus Deaton that directly changed the world view of
development economics :
a. Reading books and considering him lucky.
b.  Analysing household data of poor people using advanced technique.
c¢.  Observing behaviour of poor individuals related to their choices.
d. Working for reduction of inequality and ill-health.
(1) Onlybanda (2) Onlybandc
(3) Onlyc (4) Onlybandd

19. SR Ir=A HROAET TROHETET AT SeTwTed Sivears et o seee
eyl fas 1.
9. T ol P NEeedl g Aihe wEA HU AT 99 S,
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(3) € ITBAT W4 : (4) HF H 10T g

Choose the roles of Deaton’s skill of disentangling causes from consequences in the
context of social problems.

a. Helped him to become conscious of the role of luck in people’s lives,

b. He was able to understand reasons of the choices that poor people make.
c. He was able to establish the fact that low income results in malnutrition.
d. He was able to study interventions introduced for reducing malnutrition.
(1) All except a (2) Onlybandc

(3) All exceptd (4) Onlycandd
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Choose the work that Deaton did te fulfil his moral responsibility of reducing poverty
and ill-health in the world. '

a.

b.

(1)
(2)
3)

(4)

Focused on studying poor person’s behaviour related to their choices.

Gave importance to studying how people’s luck affected their choices in their
life.

Observed choices of individual households for establishing base for
development economics.

Replaced practice of analysing aggregate data with analysing individual data
for studying problems.

All except d
All except ¢
All except b

Only b
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Passage (Questions number 21 to 25) :

In the history of aesthetics there also comes an age of emancipation when the
recognition of beauty in things great and small becomes easy, and when we see it more in
the unassuming harmony of common objects than in things startling in their singularity. So
much so, that we have to go through the stages of reaction when in the representation of
beauty we try to avoid everything that is obviously pleasing and that has been crowned by
the sanction of convention. We are then tempted in defiance to exaggerate the commonness

of commonplace things, thereby making them aggressively uncommon. To restore harmony
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we create the discords which are a feature of all reactions. We already see in the present
age, the signs of this aesthetic reaction, which prove that man has at last come to know that
it is only the narrowness of perception which sharply divides the field of his aesthetic
consciousness into ugliness and beauty. When he has the power to see things detached from
self-interest and from the insistent claims of the lust of the senses, and then alone can he
have the true vision of the beauty that is everywhere. Then only can he see that what is

unpleasant to us is not necessarily unbeautiful, but has its beauty in truth. -

When we say that beauty is everywhere we do not mean that the word ugliness
should be abolished from our language. To say so would be as absurd as to say‘ that there is
no such thing as untruth. Untruth there certainly is, not in the system of the universe, but
in our power of comprehension, as its negative element. In the same manner there is
ugliness in the distorted expression of beauty in our life and in our art which comes frem
our imperfect realization of Truth. To a certain extent we can set our life against the law of
truth which is in us and which is in all, and likewise we can give rise to ugliness by going

counter to the eternal law of harmony which is everywhere.

21. 91 Ui=Rq H9id w99 WEeA fas.
(1) ied 9 FETAT AW FH FO
(2) HR IR e T O
(3) wieateuta saadiiTa gfReH =aw Fo
(4) A STRTAATRITAE Fui F

Select the most likely purpose of this passage.
(1) Differentiate between beauty and ugliness
(2) Explain qualities of the beautiful things
(3) Express personal views about beauty

(4) Describe effects of incomplete comprehension
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Select an action that is not resulted from aesthetic consciousness gained due to
person’s narrow perceptions.
(1) A vegearian person makes derogatory remarks about a non-vegetarian person.
(2) A person does not care to keep his or her environment clean.
(3) A school principal refuses to admit a child from a low income family.
(4) A person respects every other person unconditionally.
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Select the behaviour that indicates concerned person’s aesthetic sense has either
attained or is in the process of attaining emancipation.

a. Person incorporates various aspects that are obviously pleasing to all in his or
her expression of beauty.

b. Person doesnt get carried away by representations that are praised as
beautiful due to sanction of convention.

c.  Person makes every effort to enhance his or her power of comprehension for
seeing things without distortion.

(1) Allbuta (2) Allbutb
(3) Allbutc (4) All the above
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Select the reason(s) for calling the act of abolishing the word ugliness as absurd by
the writer of this passage.

a. Things appear ugly to us as a result of imperfect understanding of reality.
b. The filthy places are definitely ugly for everyone.

e Things represent ugliness to us till we fail to see unassuming harmony among

them.
(1) Onlyaande (2) Onlyaandb
(3) Onlyb (4) All the above
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Select the statement(s) that confirm(s) the comment, “For writer of this passage,

beauty depends on the state of person’s mind and not on the outward features of
things that appear to please him or her”.

a. We give rise to ugliness by going counter to the eternal law of harmony which
1s everywhere.

b. Narrowness of perception sharply divides the field of person’s aesthetic
consciousness into ugliness and beauty.

c.  Person’s power to see things detached from self-interest and from the insistent
claims of the lust of the senses, allows him or her to see beauty that is

§ oy

everywhere.
(1) All the above " (2) Onlya
(3) Onlyb : (4) Onlyc
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Passage (Question number 26 to 30) :

The Dodo is dead. The passenger pigeon has passed on. But Lonesome George, the
iconic Galdpagos tortoise whose death marked the end of his species, is in post-mortem
luck.

A scientific expedition has discovered some of his close blood relations alive and well.
With careful breeding, biologists now hope to revive George’s species.

Originally there were at least eight species of Galdpagos tortoise, scientists now
believe. At least three species are now extinct, including tortoises on Pinta Island. The last
one, George, was discovered wandering alone in 1972 and taken into loving custody. His
death, in 2012 at more than 100 years old, was a powerful reminder of the havoc unleashed
by humans on delicate ecosystems worldwide over the last two centuries.

But, now the story of extinct Galapagos tortoise has taken a hopeful twist.

More than a century ago, it turns out, sailors dumped saddlebacked tortoises they
did not need into Banks Bay, near Wolf Volcano on Isabela Island. Luckily, tortoises can
extend their necks above water and float on their backs. Many of them made it to shore,
lumbered across the lava fields and interbred with Isabela’s native domed tortoises.

In 2008, scientists tagged and collected blood samples from more than 1,600
tortoises living on the flanks of the volcano. Back in the laboratory, there was a genetic
eureka : Eighty-nine of the animals were part Floreana — whose full genetic Profile DNA
had been obtained from museum samples.

Some had genes indicating their parents were living purebred Floreana tortoises,
hinting that the species may not be extinct.

Seventeen tortoises were shown to have high levels of Pinta DNA. Tortoises can live
for more than 150 years, so some of them may well be George’s immediate next of kin.

Last month, scientists went back to find them. Their plan was to capture and
separate tortoises with high levels of Pinta and Floreana DNA, and then breed animals that
are genetically closest to the original species.

In a few generations, it should be possible to obtain tortoises with 95 percent of their
“lost” ancestral genes, the scientists said.

26. YT TR THhed & BIUATHIE HIOT=T §og SRV g ?
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The scientific genetic project started because of the death of

(1) Dodo (2) Passenger Pigeon
(3) Floreana Galapagos (4) Pinta Galdpagos
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As per the passage, which are the extinct animal species ?

a. Deodo b. Passenger pigeon
c. Pinta Galapagos d. Floreana Galdpagos
(1) Onlya (2) Onlyaandb (3) Onlya,bandc (4) Onlyd
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The native species of tortoise was different from migrated species in having
(1) Long neck (2) Short neck

(3) Saddled back (4) Domed back

29.  HEA TERI et HROT
(1) ek SaremgE=n T e
(2) Tfeert T oA gefae
(8) AT FRAFYS
(4) I 7 TGS
Tortoises perished because of
(1) Hot lava of the Wolf Velcano
(2) Dumping into the waters by the sailors
(3) Man’s interventions
(4) Non-breeding

30. IS T TEqeE hidd! AP g 2

(1) fiar (2) wefaTET (3) s@Ed (4) aeEA
George had high levels of genes of
(1) Pinta (2) Floreana (3) Isabel (4) Voleano
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Passage (Questions number 31 to 35) :

Photochemistry concerns with the study of the effect of radiant energy on chemical
reactions, and with the rates and mechanism by which reactions initiated by light proceed.

Ordinary or thermal reactions are initiated by activation brought about through
molecular collisions. It is characteristic of all such reactions that they can occur
spontaneously when the reactions are accompanied by a free energy decrease. However,
photochemical reactions need not always accompany with decrease in the free energy. For a
photochemical reaction to occur, reacting molecules can absorb radiations of only certain
wavelength and not all, in the uv-visible region. In nature, many photochemical reactions
e.g. fading of coloured fabric in sunlight, photosynthesis, etc. take place. In fact, with
absorption of a sufficiently large quantum of radiant energy a molecule may be ruptured.
Such absorption of light by an atom or molecule leads to its excitation; and if the activation
is sufficiently great, chemical reaction may result. It is in this manner that absorbed light
can affect the rate of a chemical reaction and frequently bring about chemical changes
under conditions where thermal activation alone would not be effective.
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The rate of thermal uncatalyzed reactions at any fixed concentration can be varied
only by change of temperature. With photochemical reactions, however, the rate can be
controlled also by varying the intensity of the light used for irradiation. In the latter
reactions, the number of molecules activated depends on the intensity of the light, and
hence the concentration of activated molecules will be proportional to the light intensity to
which the reactant is exposed. With sufficiently intense light sources, it is thus possible to
attain reaction rates at ordinary temperatures, which would not result thermally except at
considerably elevated temperatures. Again, since photochemical activation does not depend
to any degree on temperature, the rate of activation is usually temperature-independent.
Any increase in the rate of a photochemical reaction with temperature is due primarily to
thermal reactions, which follow the activation process.

31.  dR forar e vEmfTs arfifsear an YIS Hg J4.
(1) gwa foar stfofiar wepmn (2) ifaws 39
(8) ITAVHI qUT (4) ety 3t
A photochemical reaction takes place by absorption of
(1) wvisible and ultraviolet radiation (2) heat energy
(3) infrared radiation (4) magnetic energy

32. QT HIU/HIORT HET/REH TE R/erEa ?
anfeires sfifshen g aTIRIETSR STadEd STHATd.

., R G AfuiwmE=aT 9T 81 SV S arve FEta #w A4
FAffsFaTRRT= Il W T @ YTt S UHat a3,

(1) wFa A (2) Had 37 T H

(3) oA 9 AN F (4) =l wd

Which of the following statement(s) is/are correct ?
a. Thermal reactions are temperature dependent.
b. Rate of photochemical reactions can be controlled by any light used as radiation.

¢. The number of activated molecules is proportional to the intensity of the light
used as radiation.

(1) Onlya (2) Onlyaandc
"~ (3) Onlybandc (4) All of the above
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33.  OR f&han wem vamis wthiRAa afras 39t & HFEET .

(1) SeoEt (2) onfoas TEpitat
(3) Wi (4)  SehTaFET dedat
The energy of activation depends upon in photochemical reaction.
(1) heat (2) molecular collision
(3) concentration (4) intensity of light
34. fruia, 3 Hiyss Taris AfufRR Igm o

(1) HETEA oarTe Sifsem Fisss T@w g
(2) TEENHE 9 IAFIEE qIvarg €9 8o
(3) SAECTdT HAfraa= e He ST &

(4) I TS IU

In nature, is an example of photochemical reaction.
(1) formation of sodium chloride in sea-water

(2) | conversion of hydrogen and oxygen into water

(3) conversion of atmospheric oxygen into ozone

(4) formation of acid rain

35. 3ufas dR fehan wem TEEfE sAfBRae g ot

(1) & & (2) dred

(3) el Iw (4) weEd

Certain photochemical reaction involves of the free energy.
(1) decrease (2) increase

(3) utilization (4) variation

Foed] HTATATS! SR / SPACE FOR ROUGH WORK ‘ P.T.O.
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gftedg (I9A U 36 9 40) :

FAUTAT T STV FHRART 3R, I HE A a3 = it 7 "1 wdam o
FEIH YS F Whd el W 0 Tgu gfARar. e qHeAT S 3 @ greel
FHIATHT T T T/ T

FRIEE IYeaAl yHfReE S9adt, Frofl gl fhar 94 9 wwame smw wifaw g
T8l JrEdfds TIgdT QU G, TeEhe, Ffdans A1 HeAge Jdar 3 v ot . s
A T 96 T8 T A el Ied. FHATHEAT {9 T TSR A e It il Wl
A A1 UfdETee aRaaTHRT TEE.

T =, W R Fu ol 77 ol ey v R v ioned aififE e T udien s@

et wrEa faeh wag Feft onfY IR U WS gee.

i # s a9 910, Oyt i gue Uk SremH anftn wddie fidimeas 98 e W
srafesudfoefi STRiEs S FRET SUTen 9% s f¥ekadl. S s TEEET I FEA 0
o @7 =0 Foivgre SR g e WS TR Fow A1 a gue s srd.

s anftr s orgifiags smfismen Iwm fied @ adwim @ oM. SeE
TR geaST WY ANTAT, TETETEA ATHAHHICT 39 Tigrad rde! 90 Sat FERiT S ereard
AETA S AT TS Fa aTge MY foy AT, Areansft @mAr Hwarsh gaiiie W 95
HIUY, Yegret Y HdlET ? BBt Tae THEE T A aEd e areA e A
AFABIER Fooll MBauarqEd TN 88 H8 TIe A o A1Sdl. d T=8 T F I7e &9 571
e AHAT VAT, T FYvrS I T SREH 3N HuIrer AL d G

I gefaaern snfor ghft efrdaer aifwft swe ==t anfir wewrlshiat SNRiv 9] STEETa
HRU HGUTAT S8l o 0l 31 sqaed=n faer™ a1 wiar ¥a Il gauw Fou T, B
gr=aETe fguefa veerd o1R, W vgd !

Passage (Questions number 36 to 40) :

Secularism is not about good and bad people, but about an unflinching law that
won’t brook public demonstrations of intolerance. Secularism is just to make sure that
ordinary people can lead ordinary lives without fearing what tomorrow might bring. When
the law is on your side you don’t need eyes in the back of your head.

It is the law, not irreligiousness, or shutting up the church, that makes us secular.
In fact, Henry VIII was hardly secular because he flouted the Pope, divorced and
re-married. If the Vatican did not approve of his behaviour, it could go fly a kite. From this

HooUT HRTETS! AT / SPACE FOR ROUGH WORK
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historical act a rather simplistic idea grew that secularism was about separating church
from state.

Religious persecution continued in Europe, not because the church said smell, go,
hunt and kill, but because it was now the king who issued such diktats, The unquestionable
authority of the priests was now replaced by that of the king.

It is only with democracy that secularism truly appeared.' This is not because we
suddenly became good, and traded in our cruel hearts for loving ones. What made the real
difference was that there were now legal penalties for communal and religious vioclence.

Secularism becomes a habit when the law works systematically, and without
exception, against sectarian intolerance. It is this legal intolerance of intolerance that
teaches us to be civil and not moral science in a classroom, nor sweet and inconstant
political talk. Though it might still hurt to tolerate and make room for other communities, it
would hurt a lot more to break the law.

Across time, intolerance is spurred by social and economic insecurity. When jobs are
scarce, when one’s self-esteem has got a hiding, we start blaming other communities and
see all kinds of evil in them. How is this best combated, with words or with deed ? Recall
post-partition’s hot and heady mood, and yet how Nehru succeeded in keeping religious
passions from taking over our just born democracy. He succeeded, in large measure,
because he promised jobs, dams and steel mills. He hardly talked of pure tolerance, or even
secularism; he just did it.

If secularism and pseudo-secularism are bandied about freely, and abusively, today
" it is because partisans on both sides are clueless on how to develop our economy. This is
bipartisanship for you, Indian style !

36. TRESET IE1 JET R H
(1) amed g4 & wefedy T g
(2) 3TEA g &1 e T SET HIHad B
(3) oA TN SEdeh s arftrehre sram Fefl.
(4) =R T IS B I oA gt
The author argues that
(1) Henry VIII was a secular king.
(2) Henry VIII was rpretending to be a secular king.
(3) Henry VIII defied the authority of the Vatican church.

(4) Vatican church dominated Henry VIIL
FEeIT PEMS! SN | SPACE FOR ROUGH WORK . P.T.O.
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37. T N foumiish Som AT o ?
a3 VIII faedt wmifaeg g,
¥, i Hefd R Fae FSEH AlBI TS d HOH ST 7] Iebeie.
(1) wF 3 (2 RS 3) T@aaming (4) Q= TEE@

Which of the following two statements is/are correct ?
a.. Henry VIII was against Christianity.
b. Secularism is related only to the ordinary people so that they can lead ordinary

Lives, ‘
(1) Onlya (2) Onlyb (3) Bothaandb (4) Neitheranorb
38. @A W Fyred il Ses =T BT
. T ToAd

. ISl B
F. TS TR
= A, ¥ aftr % ;| ;| Ieafgeen T wtamdie Toadine
(1) %a R
(2) %8
(3) wad 37 IMfoT
(4) FOSATHT HIOTART AR
According to the author, there was religious prosecution in Europe
a. during the rule of the church.
b.  during the regime of Henry VIII.
¢.  after the establishment of the democratic system.
d.  during all the three regimes mentioned in options a, b and c.
(1) Onlya
(2) Onlyd
(3) Onlyaandb
(4) None of the above

FOET PHTAIST SIFTT / SPACE FOR ROUGH WORK
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39. SEHEI 1A yHEd wvS

(1)
(2)
(3)
(4)

qiffs B Arafan
Fhesh! whal T

According to the author, secularism means

(1)
(2)
(3)
(4)

separating church from the state
tolerant attitude of the majority community towards minorities
stopping religious persecution

None of the above

40, Yda I faumeh SR A o ?

A,

(D
(2)
(3)
(4)

wmmmmwm%mmwﬁw

s BIevll TaT=T Thiesh FETGNT YA EaT resvar Vet sl fasmmmn Teafaa
F.

B 3
T |
At o anfor &
3! TEa

Which of the following two statements is/are correct ?

a.

(1)
(2)
(3)
(4)

Since no party knows how to develop our economy both the parties are
insecure.

Nehru instead of practising secularism during the post-partition hot and heady
mood promoted economic development. '

Only a
Only b
Bothaandb

Neither anor b

T HHTETS! SR / SPACE FOR ROUGH WORK P.T.O.
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uiEss (T9 wHTE 41 9 45)

S a7 g4l R g1E] . Tl A o8l BN auiqa e we AW gidd. @ Ade
e fomm &4, wote foan U, SNEN= el fo=m #u, 1 T gersen w1 fiawt
q =

Figars 7 i radl. @ FIomR qUIger FIE sEO ATEL @ e faRemdd 98 T
TEHA. I TIF FoTgT, FiRT ROAR. T Wi T, T rgvierd, M reordier, “dt @ g
fmfor ==, Hf = g1 anfr. e g anfR.” gigam v & ol ssvm a @t
A=A R g1 sven Hiad) i s% gl

T qEH A FHETEAT ST S IR el 3R Y A 2 aEEeiy 3 3 e g6 et
A, & 9 foaR iq e el omRd, o v fewmlt agw Mt wifest. A, avqgune, e,
Wigveme, g, &1, WA, W, ShisEU, EeEed, JU9Wed, TWENEE 9 54 "o
[IAHIAT 851 7 9ehal, 7 Gl e YU T W aehdrear Iqraeia frafr set arfgsr. e
O FEUNIE @ Y.

N FRBAA T AN 1 [TaREd AiedaaTe Iad. SEey JEEHR e ¥
AR, IR Tepda € fama T w1 2 S agem widien A deg SEeEET e ag Mg

T, FURE &7 3, YA v gy § d6W 7= B, fewfemnft wieeR, wamen,
TurerR vy, Sifg% @ Fais vewd e, s & gewrlel o sme. qai=ar Nl fommi=an @R
T Yiara I ot 1R, A9 ITEHR A, W @ fEgE, e Io R,

P fwr 3 1g o o o P sTawEEa o, 3 i T, iy T, @
T, eH T, Ffem gt s@d @ @i sl SEvEshdal 8. W1 9 $F ISl 9% A,
TGRS 39 § Hashes F1=1 I 318, FATIC Gl & L1 457, &l qoafos Tredl w/urs 71T ol
fear %% e T N fIER TR S SER g gisd, o1 A foaen 9 steen g o
e feet mee.
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41, Gl REwn 99 furdh v S /TR ?

1. gty fgd e dufwer .

¥ A T & ofteard @ ggiar.

(1) % A (2) SFdH

(3) A & o § 4) T A
42, e 29 Rumid S G o ?

A, TE FTHW HOMR 7 FHOMANET A,

¥, WA TEhd RO g S0, e SgAtgeER o

(1) wFa A (2) wH

(3) a-ft e (4) & R
43. Wrel Reen @ et FIvE @y g ?

9. JOER) A BT W wha .

(1) %aa A ' (2) BH 9

(3) ordl & anfr & (4) <d ATda
44, T fedem o9 faurideh How dvg ang ?

&, Em foctean g fama o g,

9. T SO TREREY e,

1) w A (2) wad 9

(3) Tt et g (4) & ada
45.  Iar=Ten S .

(1) U gFar (2) HHEYY

(3) et wepclt | (4 foia w@m

FTegT FTHFATS! SN / SPACE FOR ROUGH WORK
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Passage (Questions number 46 to 50) :

Two musicians dwelling in one house gave lessons to pupils on the piano, and the
man next door, who objected to his peace being disturbed in this way, took his revenge by
banging on tin cans, and otherwise making things unpleasant for the musicians. I do not
know what the law said on the subject. It may be admitted that the annoyances were equal
in effect, but they were not the same in motive. In the one case, the motive was the
reasonable one of earning an honest living; there was no deliberate intention of being
offensive to the neighbours. In the other case, the motive was admittedly to make a
demonstration against the neighbours. What is to be done in such circumstances ? It is not
an offence to play the piano in one’s own house even for a living, On the other hand, it is
hard, especially if you don’t like music, or perhaps even more if you do, to hear the scales

going on, on the piano next door, all day.

The question of motive does not seem to be relevant. If my neighbour makes noises
which render my life intolerable, it is no answer to say that he makes them for a living and
without intending to destroy my peace. He does destroy my peace and it is no comfort to be
assured that he does not mean to. Hazlitt insisted that a man may play the trombone in his
own house all day if he took reasonable measures to limit the annoyance to his neighbours;
but Hazlitt has probably never lived beside a trombone. I find my argument is leading me to
the side of the tin can gentleman, and I don’t want it to do that, for my sympathies are with
the musicians. And yet —

Well, let us avoid a definite conclusion altogether and leave the incident to make us
generally a little more sensitive about the feelings of our neighbours. They cannot expect us
never to play the piano; but the amenities of neighbourliness require that we should

mutually avoid being a nuisance to each other as much as we can.

46.  Fill the blank space with the best among the given options :

The probability is strong that the musicians
(1) were earning their living by playing the piano

(2) did not know they were causing discomfort to their neighbour
(3) knew they were causing discomfort to their neighbour

(4) did not care about annoying their neighbour
FoeldT BT ST / SPACE FOR ROUGH WORK
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47. Fill the blank space with the best among the given options :

“.. or perhaps even more if you do ...” in the last sentence of the first paragraph
suggests that

(1) the piano is not being played well
(2) the piano is being played well
(3) it ishard to hear the scales going on

{4) one can't sit listening to the piano all day

48.  Which of the following statements is supported by the passage ?
(1) Hazlitt liked listening to the trombone.
(2) Hazlitt did not like listening to the trombone.
(3) Hazlitt had little idea about the loudness 6f the trombone.

{4) ‘The annoyance caused by the trombone can be limited.

49.  Fill the blank space with the best among the given options :

The writer is suggesting that

(1) the musicians were wrong in creating a disturbance for the neighbour
(2) the neighbour was wrong in beating the tin can
(3) motive is immaterial not the concern

(4) we should never do things that inconvenience our neighbours

50.  Fill the blank space with the best among the given alternatives :

“It is no comfort to be assured that he does not mean to” can be re-written as

(1) Itis a comfort to be assured that he means to
(2) The assurance does not help
{(3) The assurance is not honest

(4) Comfort cannot be assured

FoEdT BT AN / SPACE FOR ROUGH WORK P.T.O.
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51. YF @ WGy €9 TG Ue 378 MM 3 B @b J-6T dIeigs Giedla aidel 3R,
A=A g avarea W d Tt @ qrEdie ?

AW 1 - TR dIEgSH Qi AR YT AT UHT 919" J1Y 1AW SAHI 1R,
Dy 2 - A IR IR Sk A SRE i o,

T I AT HeWid 92 1.9 2 9 3ha avis o= waiaeh e w0
(1) Q= a2 v T Qe amda, qu HrE) ded U g .

(2) TS 9L UFhe T IR,

(3) = a8 wwiIaieE R .

(4) T Th THe [ AR, 901 ALF G Tehe R .

Each play kit is packed in a separate box and these small boxes are again packed in
the transport boxes. How many transport boxes of play kits will fit into the cargo
area of the lorry ?

Fact 1 — Each transport box is cubical in shape and one of its sides is 50 centimetres
in length.

Fact 2 — Cargo area of the lorry is thirty square metres.

Select the appropriate option that describes the role of facts 1 and 2 with respect to
answering the question asked.

(1) Both facts together are sufficient, but neither fact alone is sufficient.
(2) Each fact alone is sufficient.
(3) Both facts together are not sufficient.

(4) Fact one alone is sufficient, but fact two alone is not sufficient.

FocqT FRTATSE SIRTT / SPACE FOR ROUGH WORK
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52. 2 fediewn mndn orva w6 Siem Hiwdia s fmar Foen Fmfaws smhed
FE 1. T Ffre fehfa swaten san Rden giomfresdia sefagme w@i fee.

2
% emeé
oo
|
%

i___-_ j——_—1 \"j
o e E B

Study the diagram given below and understand the operations done by operators
given in small boxes. On the basis of that encoded meaning select the appropriate
option to replace the question mark.

(3) (4) @

P.T.O.
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53. T SaRITCll TS HECICA! dF a8l $HAe TeEd! ARd. df Fod ASUR T@edd -
A=A Al ET Uk, o Bt dtevaren di9 ordi=ft diwon eft. “aiss g vyt

TR TTier 94 F q deA1d gaet! qifeid. @aia 39 6 q JoaT deodrd Fot gafiel dogr st
E@Tgmz'gh'éa THE! G AT 7 UIEal § T4 qaddl G FelEaehl B Ueaen g6

iegl q IS SHBH I USHie J5E1 ¥ BN UHEl ol foete @1 S . qen

e Fol diear adte.”

i gearien FHa w5 $o At wfgsa i i@ s=s daden wife = Rt
AR TSR ESCRRIR C REC S

(1) 10,10 2) 17,8 (3 4,7 4) 6,10

A person wants to offer lotus flowers to three temples that were around the pond. As
he was about to pluck the flowers he heard a voice of the pond deity. She announced
following conditions for plucking flowers. “Before going to each temple you should
wash all the flowers that you have in the pond. Remember that when you wash
flowers in this pond their quantity is doubled. You should offer equal number of
flowers to each deity without wasting any flower. There should not be any flower left
with you when you leave the last temple. You are allowed to pluck flowers only
once.”

Select the minimum number of flowers the person should pluck to begin with and
the minimum number flowers that he offers to each deity.

(1) 10,10 (2) 7,8 (3) 4,7 (4) 6,10
54, faur
ad fia giFed aTmRd.
od siFed i amea.
d geitfare faemeff e,
W ale wd faum T e gEadd S/ et ge omed 2
I <t Taeef frems amea. II. wd giged el amgq.
III. =l geifIerd foee amea. IV. wd giaed e orea.
(1) wad fsd I o (2) wod feed 11 99
(3) fasrd I fopam 11 o (4) TV 97l g4 s e
Statements :

All teachers are doctors.
All doctors are engineers.
All engineers are students.
If all above statements are true then which of the following conclusions is/are true ?

Conclusions :

I.  Some students are teachers. II. All doctors are students.
III. Some engineers are teachers. IV. All doctors are teachers.
(1) Only conclusion I follows (2) Only conclusion II follows

(3) Either conclusion I or II follows (4) Except IV, all the conclusions follow
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55. @i 9 5 ¥ 1992, @Hal oW, A% Tefeadiel al Reue TREen Sl U deiiaw
e} fehar quaTh sreeard t fEge g . afgemn <o arefiauidaar fadt 9w fmme
9TE_ WhOIR ATl ?
1y 4 (2) 2 (3) 3 4) 6
Ravi was born on Monday 5th May, 1992. He goes for a movie on his every birthday.
Ilowever, he does not go for movie if his birthday comes on Tuesday or Wednesday.
How many times does he not go for a movie until his 10t birthday ?

(1 4 (2) 2 3) 3 4) 6

56. 3Tl SICNT O AR, Howl e deid Ied. g e v . fen et gt o,

T D I EU gy e
(1) 3tel (2) o=
(3) e (4) o & mfge smomer &

Ali is brother of Bala. Kallu is father of Ali. Damu is brother of Nila. Nila is
daughter of Bala. Then select the option that indicates Damu’s paternal uncle.

(1) Al {2) Bala

(3) Kallu (4) One needs to know Bala’s sex

57. Y I oie wegETdl Ty 11 ool HIa Hhdieh fielel IRd. A1 YgdiaT ST HU 9 fERae

TeEdt feaem 9 yatashl @ yaiy e,
Ty @Il
CED 248
FEIH 4316
BEGI 5419
CAAJ 0877
DHEBF 96432
T DECG = ?
(1) 2485 (2) 2584 (3) 2548 (4) 5428

Some code numbers are given in Column II for the words of Column I. After studying
them choose the correct alternative for the word given.

Column 1 Column I
CED 248
FEIH 4316
BEGI 5419
CAAJ 0877
DHEBF 96432
Then DECG =7
(1) 2485 (2) 2584 (3) 2548 (4) 5428
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58.  wiferh=al 5 = THES! s WA afthehgseen Tata sfaa i e

éfjs

1) S 2) 3) ﬂ (4) Q

Select the most logically appropriate image from the options given for the 5h place
of the series.

éfja

1) S 2) 3) ﬂ 4) Q

59. uelt, s, firen, 3% onfor g @ fi ered amfor @ &k, Ov, Ax, W anfor W an wswra @,
T AT FHARE Y VS MW ). YShav] T ITeatd e, 9 9 e 9@ A,
W A Tk 3 9 I 7. el 9 fren 3, @, 9 W A, 3 9 T 8 o9 O AL
&t i gehrar vt Faer
(1) S AT 318 (2) et T R
(3) foren F=h ome (4) &% = o

Eli, Janu, Mila, Deu and Eku are friends and live in padas Ker, Ter, Ner, Ser and
Mer, but not necessarily in that order. Each one lives in a different pada. Janu and
Mila are not from Ter. Janu and Eku are not from Ker and Ner. Eli and Mila are not
from Ner, Ser and Mer, Deu and Eku are not from Ter and Mer.

Select false statement from options given
(1) Januis from Ser (2) Eliis from Ter
{3) Mila is from Ker {(4) Deuis from Ner

FroeqT HETETG! ST / SPACE FOR ROUGH WORK
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60. K 91 Ugat fau 3 UHs 36 A= Mg il Wi aw w1 120 RFfersn om. = msEdw
sEdaEl U fgriadta siw gufen faenfa e 360 Yash 720 wndd. oA wsATSH
qgHE 36 A9 I, K-UE USAS 9:48 € % qraad e W aw q fifte s
(1) 100 (2) 120 3) 110 (4) 90
On planet K, a day as a unit consists of 36 hours and each hour is divided into
120 minutes. For persons on this planet the degrees around a point are 720 instead
of 360 that are noted on the earth. The dial of their clock shows 36 hours. Select the

number that indicates the number of degrees between the hour and minute hands of
K-planet clock when time is 9 : 48.

(1) 100 (2 120 (3) 110 4) 90

61, dict wfeelt g foiewn WA IO wevd 3fua vl faer
o i 71 AW AESTETEN ftmen @ e e .
e T & &Y A=A wivden 9 wieftea gfien o1,
o A § AW S Tftmen  wrefien gden IR,
o ARRINT & W Wich=a afrmten 3 ST gfvemer o,
o WG 71 AW BTSN UfFaHal I Sf=ar T 1.
o SR T W wiele 2o 3 SieTe A AR,

T HI 30 R Ut 39T el 8 TEeE) R 7

(1) <haes wreft (2) S AT

(3) wreft 9 TS A 4) w0 Rrddh uwdt T

Study the information given and select the appropriate option as an answer to the
question

» Benin is to the west of Nigeria and to the south of Niger.

* Ghana is to the west of Benin and to the south of Mali.

s Cameroon is to the south of Benin and to the east of Mali.

» Nigeria is to the south of Mali and to the west of Cameroon.
~ = Mali is to the west of Cameroon and to the north of Benin.

» Niger is to the south of Mali and to the west of Cameroon.

Which of the following nations is located in both north and east of at least one
another nation ?

(1) Only Mali (2) Only Niger
(3) Both Mali and Niger (4) None of the above three

Foed] HHTTS! R / SPACE FOR ROUGH WORK P.T.O.
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62, X B uw wigiel @yFd P 2. I WG §gYidehearen T sguferhcaren Wl g
YA EeR 9 WA 97 AEsea YaE aREeHE] O Bl A9 AEL. I Fead

FINATE AR THe 3 Je1 7 S TTE  THE 99 ARy S .
fafe srefidia g feeiet Aoy srvamy aqgren faummmt D & saadt w1 stadi/oTedist
T HE Ihd A AU qaty faae,

Ot om L, 7 Vot &7 3 ame. & D & o H o=l o R, G 9 E =i €9 g
anga; 3 M 2 ot 8 G = formemme a1g @ K= fom E =1 f&mawm ame. 0 3 0 A
el Y I Q 9 R € €9 g o @ =0 Quist o W Y = R ama. 0 = fom
D =1 RPmemE R, E a/@ G 3vEt Sfearft se. P @1 G 9 D 31 g9 wam forft qeeen
sgeRdten o a2,

(1) s M Q
(2) wEaMaR

3) PRMQ@WR
(4) ME = Hioft T

X 18 a joint family of some community. In this community polyandry or polygamy is
not allowed. Marrying a sibling or to a direct descendant of self and siblings is
forbidden. In this family no person is married more than once and no child is born
out of wedlock. Study the relations between different persons and choose the option

that indicates person(s) with whom D can inarry according to community rules.

O is mother of L, who is married to V, is sister of D’s mother H. G and E have two
children; M who is of the same sex as that of G, and K who is of the same sex as that
of E. O and O’s spouse Y, have two children, @ and R, who are of the same sex as
that to Y. O is the same sex that of D. E is G’s spouse. P is the father of two children,

G and D who are of different sexes.
(1) OnlyMorQ
(2) OnlyMorR
- (3) OnlyQorR
(4) No one other than M

FHoeq] PHIETAIS! ST / SPACE FOR ROUGH WORK
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¥, 9 AT & TS wduor vk T FTRR 12, 15 T1fer 20 areTa el Sd far fend g,
THE IS § I F TRTHT WEEIM <l WUATE WRY hell HI Y TSIl HERAM T
Tt v geama wheft @ Tt et by oot sweten foudien or@a 2

(1) 10 (2) 20

(3) 30 ' (4) 40

Taps, A, B and C independently fill or empty a tank in 12, 15 and 20 hours
respectively. If simultaneously B and C fill and A empties the tank, in how many
hours will the tank be completely filled ?

(1) 10 (2) 20
(3) 30 4) 40

e ficem snmEdia « 3 fog “am@r @ ogdn wd omg. wHY o8 g e “arer @
g, © 2 fom ‘e’ @ smeendl, & R fums “aier” W oo @ T 3 e ‘s @
JREE AR 3. T TR GE el T swAtagrem Sl Siordt s A 2

SR OBG (B PBBIR (BN BB BIQ S PN B IQ BOBGRBN
5 BIQ 57

(1) =W (2) =
(3) I (4
In the following sequence * stands for “run”, <8 stands for “walk”, © stands for “sit”,

2 stands for “stop” and T stand for “stand up”. If the sequence is continued, which

instruction will come in place of the question mark ?

62 OB BN GBI BN BSH B 26 P PR BO BB 8P
5> 08IQ (87?

(1) sit (2) walk

(3) stand up | (4) stop
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65. P ¥ URGY® HIEMETIHS] 3R AU Gt HEl uesh ATIREH Wil Ve H1gd. 1 FHATgl
ST SrEFeATIET Hi9 g et e raear. sifim adiba fed s wata fasr
(\w%a‘rus%

(

et wdt

D =
| P

Paper sheet P is transparent and some elements are drawn on it with opaque
colours. It is then folded three times as shown by arrows in a given order, Select the
option that it would look like after the final fold.

P First fold

d

Third fold

=
& Second fold
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6 T899 5 wfgen wrean Terqd 5 wef witdt THe SeEE SR, 9|y 3 9EY 2 "fgen
aradta oret wfint fhed yprt TR e A 2
(1) 300 (2) 275 (3) 250 (4) 200

A five-member committee is to be formed from the group comprising of 6 men and
5 women. In how many different ways can the committee be formed with 3 men and

2 women ?
(1) 300 (2) 275 (3) 250 (4) 200

67.

Juiteri=al WA aqiet IR Yomelt st feeman Sewda wwoamndt s R
IJW

|

ATNV — () — VINA— (2)— VIMA
| |
® W
l :

CTNV

|

CTMA
DLG—>@)— D — ]

(1) GKL - (2) KDG (3) GKD (4) MDK

Study the operation system that is used for group of letters and select the group of
letters to fill in the empty box. Encircled numbers are operators.
IJW

|

ATNV— Q) — VINA— (2)— VITMA
| |
€)) mw
y

CTNV

|

CTMA
DLG —>@)—>@)— ]

(1) GKL (2) KDG (3) GKD - (4) MDK
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68. YUY H&AIeqs T U Swamrel s Mt Feare stoeece Een @&t o e

e¥faum vaig faer.
4+2-4x9+12=-22
(1) + a7for — (2)  x aTfor + (3) —oamfor+ - (4) -+ afor+

Select the option that gives appropriate pair of mathematical signs that need to be
interchanged to make the following numerical expression correct.

4+2-4x9+12=-22
(1) +and- (2) xand =+ {(3) -and~+ (4) -+and+

69. e 2N fum 3 o w=AER e g fised o oga. Freeefe sfa avi s vk
Fa=.
faem
2. SATEHTRS THETh AR ATEId ITAThS e e aTed T8,
5
I ST TaeaThe AR § il anft g aed Tda.
II. T MEIH=AhS Hod CHATh qTE 8.
(1) ea Tepd [ g 38 (2) e frewd 11 gema o
(3) o e gET aMTRd (4) wHE Frshe gEE T
Below are given two true statements followed by two conclusions based on them.
Choose the option that describes the conclusion(s) appropriately.
Statements :
1.  All residents of the village, who do not own four wheelers, do not have two
wheelers either,
2.  Those who do not have two wheelers have only three wheelers
Conclusions :
I.  No villager has both, the four wheeler and the three wheeler.
II.  Some villagers have only two wheelers.

(1) Only conclusion I follows (2) Only conclusion II follows
(3} Both the conclusions follow (4) None of the conclusions follow

70. vwfagrean Snft @ vafg faen.
JEWQR: ? :: ? OYQFR

(1) LCYOT, MAOHP (2) LYOQR, MHPSS

(3) LCYOQ, PHOXM (4> LYOQR, OYQFR
Choose the correct option to replace the question mark.
JEWQR: ? :: ? OYQFR

(1) LCYOT, MAOHP (2) LYOQR, MHPSS
(3) LCYOQ, PHOXM (4) LYOQR, OYQFR
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71. 3,4, 5,6, 7 I0H THEAS! B HVAE AR 3k Thard arged fordl 9n 7H i T wan
BT 2
(1) 120 (2y 124 (3 130 (4) 140
Using any four digits at a time out of 3, 4, 5, 6, 7 only once, how many different
numbers can be made ?
(1) 120 (2) 124 (3) 130 {(4) 140
72. WEA AFAIG FEEH! TSR W SHEEE IR, TAE T FRE &9 TS FHA

woftear goie 3R, mmwmmmmwﬂmﬁmﬁwﬁmﬁ
mﬁ@rgvhﬂtar@avmwhﬁam

(1) 1:4 (2) 1:5 3) 1:3 4) 1:2

Accompanying figure shows area covered by tiles. Area of each white tile is twice the
area of a black tile. Then select the option that indicates the ratio of total black area
to the area covered by all the white tiles.

1) 1:4 (2) 1:5 3) 1:3 4 1:2

FoT SIATATS! ST / SPACE FOR ROUGH WORK P.T.O.
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73,  wRRRE R e g vt e
2, 4, 3-5, 65, 5:0, 9-0, 6-5, 12-5, 8.0, 14, ...
(1) 35
(2) 4
3) 50
(4) 125 ‘
Select the option that indicates the number that is odd in the series
2,4, 35, 65, 5:0, 90, 6-5, 12-5, 80, 14, ...
(1 35
2 4

3 50
(4) 125

74, N Wferh=AT 5 o1 IRTEd) adhgsean 3fud wiew faer

LSO >
N .

Select the logically appropriate image for the 5" place for the following series :

N

(1) b @) $ 3) é @ >

HoTYT HHTATS! AR / SPACE FOR ROUGH WORK
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{ €
i%@i o 0200

Select the logical set of images for the empty places in the following arrangement

. =
28
96

P NG
@) @ @
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Fviaeraar snfor wemment@ WA (we HHTE 76 7 80) ¢

Decision making and problem solving questions (Questions number 76 to 80) :
76. T WWTdIer Wi HEpdl 9 TORT oA TSGR S 9 T YRS A1
ST YT Hla ATeld. T SFadl T8I gral,
(1) FEN JedoH HOM1 CFA AR WG wH o HTAA FHEE e
FftEpT=TEd qErEad @
(2) —ATETER AT ITTTE BT S| [IUETd PR GRIT hid TETel.
(3) WWWWW%WWWWWW
wew faafa & @
(4) oWt 3 INE FRHAETRT GO 9 T GguU st FHfed oM wRETETEd
AITEH BIVITEIS] AT Hed FHUAET Geard FHUe.
In your area people are not caring for court orders related to noise pollution or air
pollution under the pretext of culture and traditions. As a lay person you will
(1) keep on informing authorities that are in charge of minimizing pollution, about
the violation of court orders.
(2) keep on filing complaints against persons violating court orders.
(3) keep on spreading messages related with health problems because of pollution
whenever you get a chance to meet groups of people.
(4) start assisting people in general to become aware of health problems related to
noise and air pollution through virtual and real events.

77. G U GRS 9 WYY TEU W HLAT IATE. G HIGU shefedl HFTCTEAT ATHR
ﬁmaﬂmmﬁﬁéwﬁﬁ@ﬁ@mw%wmmmm
TeheqTd JHSA] SEREETE 3% HE TIUE =T Sideie TGAHdl FW HE ARd. Th o
quNftep gl foerr vt fireeam amel @yl sl @ SR, greﬁﬁ%ﬁwwﬁqpf#«ﬁmﬁm
TERTC Ao BaTear STt Temd erRvare auehl fin Reed o,

(1 mﬁmﬁiﬁwmmm@mﬁw&ﬁmw
(2) o1 FweETEa aEE F Gewranh @=t wed 91 faaiifameg g sEEd wua.
(3) memmﬁaﬁwww&m@ﬁﬁ

) m%ﬁrﬁiﬁmﬁwmﬁmmmwaawm%ﬂtmm
Zuanandt forer agueEATE e Fd.

You are working as a teacher and researcher in one institute. You are heading a

research project that is funded by a large industrial group on the basis of your

proposal. Many junior researchers are working under you for their doctoral degrees

in this project! One female researcher asks you to help her get the degree. She

threatens to put you behind bars under the pretext of sexual harassment if you don’t

fulfil her demand. You will

(1) go on leave for few months to avoid harassment from this student.

(2) discuss the matter with seniors and colleagues and then take viable action
against this student.

(3) request the student to work with another guide and get a degree as per her
wish.

(4) arrange for counselling of this student for helping her to understand the
importance of her research work and have the patience needed to get it done.

YT FHIWIGS! SIFN / SPACE FOR ROUGH WORK
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78. ﬁﬁammmmﬁmmmmwmm
TEA FA AHAT TG THR TSl AR, B TIeih ACTEET, qod o TRe FHgaa
AR, T MBT ATEITHM A1 JAHT Y= e am@en 7 TR g8 & S, giomdt &
W g e IR W dauR Fudd. g, ‘ '
(1) WIeTsMT =1 JaHT SR ATed qrad HmE! fordt U,
(2) THACAMIUT FSH FEATE! HUE! 3 WS e Gt Fa.

(3) PEAT d@d Wddial TAME! HEad JARINd w6 AT ThHisial faHmm  3Tet

HHAT HigT hiled,

(4) A-VHHY TS Ugd STIH UTThHE! FES ARG F6 i g gwme
TEed G e @ foTeTe wwashal ARy fanfba waen agq T

You are a district collector and receive a complaint under the RTE Act from a group
of parents who admitted their children to a private school. These parents are from
minorities, dalits and poor families. Though the school management admitted these
children to their school, other children are bullying them constantly. As a result

these young children are not ready to attend the school. You will,
(1) request the parents to put their children in a government school.
(2) request a school management to take stern action against the bullies,

(3) during your spare time organise workshops for school children to assist them to

respect each other unconditionally.

(4) organise workshops for teachers and parents for helping them to understand
the importance of RTE Act with the help of NGOs and develop unconditional

respect towards each other.
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79. U= fEuren géa gt gim anfiu fewml trem=n fimmen devawrdl oten oRM. Wewd
AT FEEICT a1ed oI WIS faumas aeemea STaeArETel! e fare smem wmes
AT, W%mﬁwmwmmmwm W gE
TR 8 MEw ST G . T WA AN e A grgien WA
sffearat w81 ga Fgerdt foged, sataa‘@wmaaﬁwa?ﬁaﬁ?ﬁamwaﬁvﬁﬁq?{n‘
Hepafl e grElen waee K ff =1 W 9o v ff wra urerel @ s g
SUTEIS aTe 9TEG oned. At Hel o 9 fiaw omgd. § Ho ane SR i
AT HOAH THETeHH Hgd AT Hed oAl et e uresw T1dt. g fiw
=T Tt Fiesoll HGed TrETell AT JIHT ST Feiara qewrst it Sariqd @ha
a@tmﬁﬁwmﬁ

(1) TEH=ET SATgd A GaAT Hresst vuar=t @@ famdt wua a0t @a:wn 9 e Taa
qﬁmmwmqmmmwﬁmﬁwmmmmﬁw
AR HTEEH S,

(2) ToEr=a ARt HIvETEl T TET 3% T U NS Silgd oI a1 Gt e

(3) TEETRN Y e PRl FTCAH Jrel TS S 9 A STEavEE @ See
T 3 Qv et 67 v fowe I

(4) TEFHT GTiCHA 67 AR 84 Weid FUATIH Jard Tefeh T 23 J59da
T SISt HUATETS HHTER ATSarE 9 SBTael AT,

You are visiting a friend who is living in the remote rural place during a five-day
vacation. While taking a stroll you came across a residential ashram school managed
by the MLA of the area. Your friend is an employee of some other institution headed
by the same MLA. School is away from the main road and from the village dwellings.
You go to the school premises and find that six children are sitting in the verandah,
all other rooms are locked and no one is around. On inquiry you find that they are
students of the school and are waiting for their parents to take them home. They are
there without food for two days. They are from Korku tribe that is docile by nature,
and lacks courage to visit villagers and request for help. Your friend requests you to
leave the children to their fate and leave the premises immediately as he is worried
about his job. You would

(1) call and request all villagers to take care of these children and guide a group of

young persons from the village to take initiative for inviting some media
persons to make a story of the situation without involving you and your friend.

(2) collect villagers, request them to see the plight of the children and help them
with food till their parents come to take them to avoid any trouble relating to
employment of your friend.

(3) talk to the villagers and request them to give food by giving them needed
amount and forget the incident as you want to enjoy your vacation.

(4) guide the villagers to pressurize all school persons to join their duties
immediately for taking care of the children till their parents take them home.

HoT PTG W / SPACE FOR ROUGH WORK
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80.  USZTL IEAESHAT TN UATHIS! STEITHT TIUTTIETT qrel SHeT SR, AATHHATAT JAT=
FSEAT TR UK 1 : 256 318, graTen Yov fide onft Mg s IR
T aridier wen fafgor=n w@ faemeath i sqwmTien e FeanS TR e
wlaglt a5 TraEen geard el S fomeath o feneifosg forg wRr et st
8. g

(1) odien TEEme S N Ty aﬁm@ﬁﬁmﬁﬁﬂwquﬁmﬁ
FoarEt fordt wua.

(2) Y YU ISRt SEd drest oYy et el aumelt swas faad
.

(3) Twwia Taete e faenwten g wum=n el el g, ol Ao

(4) th TaEY TgTeT TS THEET TYTE MUy SiehEht ol gamardt eree.

You are appearing for a competitive examination, for admitting students to
post-graduate courses, The ratio of seats to that of applicants is 1 : 256. You have
high hopes of getting selected.

Suddenly some students writing the examination in your class started arguing with
the supervisor when she spotted them using unfair means. Some other students
complained against these students and the head of the center came to
investigate the problem. You find it very difficult to concentrate on writing answers.
You will

(1) leave the examination hall and protest against noise and cheating and request
the management to cancel the examination.

(2) request the investigator to do inquiry outside the examination hall and
interrogate students for cheating.

(3) join the students who started protesting against the group that was engaged in
unfair means and stop writing examination and demand for your right to have
silence.

(4) just remain calm, concentrate on reading the paper and wait for the completion
of interrogation.
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(8) wwgfeas fafga oem ffite arfie == oW (16 9%) w09, Tgferheafiiad ITmiEea 91 3
FIEE FE W Hed™ § T HWAT IFUH Het IR, I THA A 9 AR ISR A6
I e “ghamer g o sfidy FogEEes sfufe-82” Ind aEdgen wRan
AT ¥EA T St AR FHI TF IUISAT HRIEETAT AT /R 39 U gOR R gered (8w

LERAES

(9) TR e ubPad IR fafe Foiell 9 GueaHE SUgaE @ TR e sie TheTheEETet
U3 WM qEET a7, muﬁmmmﬁaﬁaﬂnﬁmmﬁﬁmml
wHauEEe T Fretar wa st maEvas et

q. 5. 201,

q. %. 201.

oTHoll HRei
Tefrht =Te e e wft e e e ?
(1) I FaEg g @) Saag TR
(3) T THHIEA T () e MEer
& I A I C(3) T U U4 oW oM. e 1y I '(3)" Bide
AT WA F¥ . 201 FHIGS IHATE Q) @ Age U0 Sk
TRER HTTF .

@ @ @& ©

AU Tgd WA EYErhdie TR Tyl gEET ISR B qrelen wadaica gefeieu
Fulhate T 1 TSTHARREAS Gaitd 94 qUITY SEihd FEA gEaEl. ST
T HTEAT I AT o, Uf-as a1 yde e A .
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